Temperature [K]

Pressure [Pa]/1000

Pressure [Pa]/1000

16 A

=
i
1

=
N
1

Int. Ener. [J/mol]/1000

800

700 A

(o2}

o

o
1

wn

o

o
1

s

o

o
1

w

o

o
1

200 ~

100 A

Pressure [Pa]/1000

=
o
1

(o]
1

Temperature [K]
N
o
o

w
o
o

100 200 300 400 500

Temperature [K]

600

PSmolar

700

o o o s eessscsssccssens
E e o e oo s 0essesesercse

e o o o 00secsssscessse

600 -

(S,

o

o
1

Temperature [K]
N
o
o

w

o

o
1

200 A

0.00 0.02 0.04 0.06 0.08 0.10

Entropy [J/mol/K]/1000

DmolarP

0.12

1071 10°
Density [mol/m3]/1000

DmolarUmolar

B T
R
esesecscsnee

0
o
coeseses,

107! 10°
Density [mol/m3]/1000

TUmolar

N

Not
Implemented

AN\

0.0 2.5 5.0 7.5 10.0 125

Int. Ener. [J/mol]/1000

15.0

17.5

Int. Ener. [J/mol]/1000

100 A

.
700_ D Y
.

600 -

U

o

o
1

700 A

Consistency plots for Krypton

DmolarT

e e s s esee
s e s e enee
o s 00 cnne
o o 0 0ence
o s s sees®
N R R A

o e e eeec”

.
PRSI A

Pressure [Pa]/1000

=
o
w

102

Density [mol/m3]/1000

SmolarT

D I I A I I P R R I
D I I R P R R R
M I R R R R I R
M R I I I I I P P R T R )
R I P I I S R IR A SR

.-.......................................

....':.'00o0ouoo‘onoooooocuo'oo-oo'ooo-ooo'

SO R R R R R I Y

R M R I I R R Y

ce.
.
R A I R R R R R I

..
.-.::.’.‘°°----...........................
teen. M I R R R )
‘oo, S et st ecsectcssescsccsscsscssscnnn
‘el R T A AT SR SRR
R T T I T T R
.

*ee

.

... ®®®cececcccccscecssssssssssscnee
.

ce e
.
Cea, S *eccececccecscssesesscsssssnnn
. .o
. ..
RARTIN M R R R XY
..
. ..
. ey M I I I Y
. ce
. ce. A R R R R R
. *ee
o, "*e. R R R
‘e ce e
‘e
.
. .
. .

.. ® ® s s s esseccccecsssssessscnnson
LICITR

.. L R R I I
ce .
o tee M R R R R I
. ce.
LTI M R I R R R R R R R
. ces
‘e, A I I I R I I P I
.o % Ceees
.. DR
e

D R R T R R RNy

® ¢ e e ceecssescsscecsesscnee

® e e cessersssssecscoccncne
s csecececssceccecene

e ccccscsccssssssscse
© s e ccecsesssssencccne
e o s cesscscsccsssesnne

D I I R R I

e e seccsessccnsses

Pressure [Pa]/1000

=

o
w
1

102

25 A

0.00 0.02 0.04 0.06 0.08 0.10

Entropy [J/mol/K]/1000

DmolarHmolar

0.12

HmolarP

'—I
o
IS

o ¢ o 6 0 s s e 00 s e 00 e s ee s e s s 0000
¢ e o o 0 00 s 0 e s s s s essesencsse
o o o o 0 s s s s 0 s s eesssscscecsse
o 6 o o o 6 s e s 0 s 0000 s 0s00csssee
¢ e s o000 s s e 0ssssessss e
o o ¢ o o s s 00 e s s s es0sssssssnee
e o o o o 0 0 e e ceecsesssssnssenn
e o o o o e 0 s 00 ses0sscs0ss0s0sen
© o ¢ o ¢ e 0 s e esesssseesesese0 e
¢ o o o o e e e ceseccecsesescssesoe
© o o o e 0 s e e essecesssssssscsssen
e o e s e e s ssessessesssssesssssn e
4 o ¢ s o0 seceessesscssccsssscecnn
© oo s s e ssesssesesssscecsessss e
e e s e s ceesesesssssssssessessens
DI R R R R R R
4 ¢ e essesssccssccscscssccsscncsns
R R N R R R R R X X
e e e cccecescsceccssesscccessssssoe
s cscsesesssssssssssssscccsssscccnse
D R I I A AP
4 s cecesescsssssccccssssss00ssccnsne
P R R R R R R R R Y
s e esecssssssssssscesssssssssscessssee
D R R R R R R R R R R R
4 cecscsscssssesssssscssscocsssesssnne
o o o000 000s000000000000000000000000000
DR R R R R R
D R R Y
secccecsssssscsssccsssssessscesssessee

secececsccccssscccscessccossssssssse

P R R R R R R R R R R R R ]
.

eecescscsccssssccssssecssscccssscsscscssas

eeeessssecsssesssesssessssessssesssos

4esscccesccossssessscsssscssscssscnsoe

seeccsces

B LR R R R R R RNy

10 15 20

Enthalpy [J/mol]/1000

PUmolar

25

'—\

o
IS

N

secseesssssene

e s s s cesscnse
D Y
o e e 000 s s 0

.
P I I

e o o o o e o e s o e e © s o o s e e e e e e eesscsessessees

e o e e e o o s s e s s s o s e s e e s e esesssessscsssess

e o o o e o o 8 s e o s s s o s e s e essscssesssscsscece

o e s e . . . . o o o o o o s 6 e s e seceesessscccsscnsse

o e e . . . . . . o o o o o s s e e sesseseessssssecssen

.« . . . . . . . . e o o o o e e e esescsccccscesscssese

. e . . . . . . e o o o e e e scesescssssscescsscsnse

. . . . . . . . o o o 6 e e ccesccscsscsscsscssscsne
.

o s s s ssssss000s000s000000000000
e o s eocsecsccscecscsessscseseese
R R R P T X )
e e o s cecscscssecsssssssssesscssens
e ¢ s ecescccecsscscscssccsscsccssnn
© o e ssececcesseccesesesssscescseses
© e s sseccsescsssscssccssescsessncne
e e s esesssscccscsscescscssscssssncns
6 e esescecesessssssccssscsssscscssce

R R R R R F R R R R R
e e ccccecscccsscccscncscesssccccocnns
e seesescssscsccscscsssscscssccscsses
eececeseccecssecesscscsscsscsssscnee
secescsscsssccsscessssscssceccsssene
o e coececcecscccescsscssccscscsccecces
secessessecessecscsscsscsscsscsssssene
sececessescsscscsscsecsscsscssssscnee
sececsccsscecssseccsscsscccsssccccsns
secesseccsscccesssesesscsssssssccenee

sececesscecssesscsscsscssssesensssene

eeeecscecsssscsscssscssssscccscssscnncs

seceescsscecssssecssssecsssssescsscssse

secescee

90000 cssesescssssseccssssecen e
ceesscoe

eeeecsscsssessssscccccsscccces

20 A

15 A

10 A

Enthalpy [J/mol]/1000

0.12 ~

2 4 6 8 10
Int. Ener. [J/mol]/1000

12 14 16

DmolarSmolar

0.10 A

©

o

(o]
1

0.04 ~

Entropy [J/mol/K]/1000
o
o
[e)]

0.02 A

0.00 -

25 A

1071
Density [mol/m3]/1000

HmolarSmolar

20 A

15 A

Enthalpy [J/mol]/1000

17.5 A

0.02 0.04 0.06 0.08 0.10

Entropy [J/mol/K]/1000

0.12

SmolarUmolar

15.0 A

=

N

ul
1

5.0 A

2.5 A

0.0

Not
Implemented

0.0

0 0.02

0.04 0.06 0.08 0.10

Entropy [J/mol/K]1/1000

0.12

Int. Ener. [J/mol]/1000

1072

1071 100
Density [mol/m3]/1000

HmolarT

800 A

700 A

H ul (o))

o o o

o o o
1 1 1

Temperature [K]

w

o

o
1

200 A

100 A

Not
Implemented

17.5 A

15
Enthalpy [J/mol]/1000

20 2

U

HmolarUmolar

15.0 A

=

N

S,
1

=

o

o
1

7.5 A

5.0 A

2.5 A

0.0 A

/ -

Not

5 10 15
Enthalpy [J/mol]/1000

20 2

w



